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Simplifying by Distributive Property

The disTmbu‘rlve propem‘y is used when a number is in front of the paren’rhesé?sg

8 a+ C) *Make sure you multiply everything in fhe par'en“rhes;s by
‘ the number outside.
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Or you can use the box method:
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7. 8= 3+5(y 2) % _ § 8.
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9.  B(x-2)-5x=10 .= | e | 10, 3(m+5)-3(m+3)=6 % B
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The length of a rec?angle:ﬁls (2x) and The width is (x + 2) If the per‘:me‘rer' is 40 feef,
find the length and undth (P 2l + 2w) ;% é“ éﬁ'
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The width of a rectangle is (x) and the ieng'rh is three ‘hmes the Wldﬂ‘l Fmd the width
and length of the r‘ecTangie if its perimeter is 112_me‘l'er's
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The length of each leg of an isosceles triangle is 5 cenhme’rer’s more than twice the
length of the base. If the perimeter of this |SoSceIes Tr'tangle is 95 cen’rlmeTe.r'S what is
the length of the base? '




